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LANGUAGE IN USEWord formation1

It was his __________________________ to take up badminton.

I had no __________________________ but to study again.

She had a very happy __________________________ .

She had a __________________________ about the food.

Many people got __________________________ when the factory closed.

 __________________________ is a problem we have to face.

She was treated like a __________________________ .

If your jeans are too long, you have to __________________________ them.

His knee injury was quite __________________________ .

At court people are treated with strict __________________________ .

Every cigarette packing carries a health __________________________ .

The singer´s __________________________ on stage made the crowd happy.

DECIDE

CHOOSE

CHILD

COMPLAIN

EMPLOY

POLLUTE

CRIME

SHORT

PAIN

FAIR

WARN

APPEAR

Use the words given in CAPITALS to form a word that fits into the gap.
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18 LANGUAGE IN USE

1. Space  __________________ is a thing of the future.

2. “I´m sorry I couldn´t come yesterday.“ “  __________________ mind.“

3. He is such a bad actor. He can neither act  __________________ remember his lines.

4. Students should study in  __________________ to get good grades.

5. This is the best film of  __________________ time!

6. If you want to take all that on your plane home, you´ll have to pay  __________________ weight.

7. In 1970 there were about half as many human  __________________ on earth as there are now.

8. __________________ wishes to your mum and dad!

9. And last but not  __________________ we have to talk about your plans for next year.

	10. Smoking is a big  __________________ risk.

	11. He shouldn´t blame anyone else. It´s his own  __________________ .

	12. My brother´s wife is my sister  __________________ .

	13. This university is  __________________ owned, so you have to pay to be allowed to study there.

	14. I´ll be there right  __________________ , I promise.

	15. Even __________________ he is a very helpful person, he can´t help you in this case .

Fill the gap with an appropriate expression.

Words in context
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You will hear 10 statements or questions. 
You will hear them twice. Tick (✓) the expression that goes with each statement.

1 teacher trainer doctor

2 address directions time

3 restaurant shop newsagent´s

4 child pupil adult

5 hobbies school work

6 country telephone number address

7 restaurant hotel home

8 age time telephone number

9 hobbies job school

10 doctor waiter teacher

Statements and questions

Verlagsgesellschaft m.b.H.SMARTBOOK

Bildungstandards Englisch

 Audio CD
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1 LANGUAGE IN USE
Solution

Use the words given in CAPITALS to form a word that fits into the gap.

It was his   decision   to take up badminton.

I had no   choice   but to study again.

She had a very happy   childhood  .

She had a   complaint   about the food.

Many people got   unemployed   when the factory closed.

Pollution   is a problem we have to face.

She was treated like a   criminal  .

If your jeans are too long, you have to   shorten   them.

His knee injury was quite   painful   .

At court people are treated with strict   fairness  .

Every cigarette packing carries a health   warning  .

The singer´s   appearance   on stage made the crowd happy.

DECIDE

CHOOSE

CHILD

COMPLAIN

EMPLOY

POLLUTE

CRIME

SHORT

PAIN

FAIR

WARN

APPEAR

Word formation
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18 LANGUAGE IN USE
Solution

 1.  Space   travel   is a thing of the future.

 2.  “I´m sorry I couldn´t come yesterday.“ “   Never   mind.“

 3.  He is such a bad actor. He can neither act   nor   remember his lines.

 4.  Students should study in   order   to get good grades.

 5.  This is the best film of   all   time!

 6.  If you want to take all that on your plane home, you´ll have to pay   excess   weight.

 7.  In 1970 there were about half as many human   beings   on earth as there are now.

 8.     Best   wishes to your mum and dad!

 9.  And last but not   least   we have to talk about your plans for next year.

 10.  Smoking is a big     health    risk.

 11.  He shouldn´t blame anyone else. It´s his own   fault   .

 12.  My brother´s wife is my sister   -in-law   .

 13.  This university is   privately   owned, so you have to pay to be allowed to study there.

 14.  I´ll be there right   away   , I promise.

 15.  Even   though   he is a very helpful person, he can´t help you in this case .

Fill the gap with an appropriate expression.

Words in context
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1 LISTENING COMPREHENSION
Solution

Statements and questions

You will hear 10 statements or questions. 
You will hear them twice. Tick (✓) the expression that goes with each statement.

1 teacher trainer doctor

2 address directions time

3 restaurant shop newsagent´s

4 child pupil adult
5 hobbies school work

6 country telephone number address
7 restaurant hotel home
8 age time telephone number

9 hobbies job school
10 doctor waiter teacher




